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B T 1%&5 %5 BEHET 1494 2%H HEfn424£2 7 1H
BEHET (1% 6% BEHET (4 9 4 3% AEfn42422 ] 1 H
AT (1% 75 BHAT 1494 4% MEFn424:2 4 1 H
AT (1K1 3% BEHET 1496 9% AEFn424£2 1 1H
BOHET i13F 1 4% AT i4 94 2% iEFn424-2 H 1A
AT 1K1 4% AT 14 94 2% AEfn42422 ) 1 H
B AT 1K1 4% EHET 1494 2% H AEFn424£2 7 1H
BOHET (1% 1 4% RS i4 99 4% igFn424-2 H 1A
BEHET (1% 145 AT 493 7FKHM AEfn42422 ) 1 H
B AT 1K1 5% BEHET 1494 0% AEFn424£2 7 1H
AT (1K1 5 MRS 1494 0% igFn424-2 H 1A
B AT 1K1 5% BHAT 14 94 0FKH iEFn424-2 H 1 H
B AT 1K1 5% BEHAT 1494 0%FKHS3 AEFn424£2 7 1H
BT 1% 15 & AT 1494 2% iEFn424-2 H1 A
AT 1& 1 7 BB 1496 6 &2 fAFn424-2 7 1 H
BT i2%K6 5 AT 1494 5% HEFn424£2 7 1H
EHET (2% 6 % BHEAT 1494 5% fEFn424-2 A1 H
AT (2% 6 5 BHAT 1494 5% fEFn424-2 A 1 H
BT (2K 7R BEHET 1494 5% AEFn424£2 7 1H
EHET (2% 9E BHET 14 9 4 83 AEfn42422 ] 1 H
AT 2K 1 2 AT i4 94 8 & AEfn42422 ) 1 H
AT (2F 1 2 EHET 1494 8 & AEFn424£2 7 1H
AT 2K 1 2 EHAT (494 8FH2 AEFn424£2 7 1H
AT 2K 1 45 BEHET 14 94 8% AEfn42422 ] 1 H
AT 2F& 1 6% BEHET 1494 9% AEFn424£2 1 1H
AT 2F& 1 7 BEHAET {495 0% HEfn424£2 7 1H
AT (2K 2 0 BEHET 1495 0% AEFn424£2 1 1H
AT 2K 2 1 BEHET 1495 0% AEFn424£2 7 1H
AT 2K 2 65 BEHAET 1490 9%H AEfn424£2 1 1H
AT 4% 15 BHAT 1494 2% fEFn424-2 4 1 H
BEHAT  i4FK 25 BEHET 1494 8% HEFn424£2 7 1H
EHET 4% 45 BHET  i4 96 7% AEfn42422 1 1 H
BB (4% 55 AT 1496 0%FMS fAFn424-2 7 1 H
BEHET 4% 5 BMHET 1496 0%FH4 AEfn42422 1 1 H
EHET 4% 58 BHET 14 96 5% AEfn42422 1 1 H
AT 4% 5 5 BHAT 1496 6% fEFn424-2 4 1 H
EHET  i4%K5 % AT 1496 6% AEFn424£2 7 1H
EHET (4% 58 BHET 1496 7% AEfn42422 ] 1 H
AT 4%5 5 BHEIT 497 1% fEFn424-2 41 H
BT i4%K5 %5 AT 1497 1%H AEFn424£2 7 1H
EHET (4% 58 BHET 1497 1% AEfn42422 ] 1 H
AT (4%5 5 BMHEAT 502 3% fEFn424-2 4 1 H
BEHET 4K TR BEHET 1496 6% AEFn424£2 7 1H
EHET (4% 8% BHET  i4 96 4% AEfn42422 ] 1 H
AT 4% 95 BHEAT 1496 4% fEFn424-2 41 H
BEHAT (4% 9 R BEHET 1496 4% HEFn424£2 7 1H
AT (4K 1 25 BEHAET 1494 5% AEfn424£2 7 1H
AT (4K 1 25 AT i4 96 4% AEfn42422 ] 1 H
AT (4K 1 45 EHAET 1496 4%H AEFn424£2 1 1H
AT (4K 1 6% BEHET 1496 3% AEFn424£2 7 1H
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BEHAT (4K 1 8 EHAET 496 2% HEFn424£2 7 1H
BT i43% 1 9 & AT 1496 2% iEFn424-2 H 1A
AT 4K 2 1 AT i4 96 2% AEfn42422 1 1 H
AT (4K 2 7 EHET 1495 7 &H AEFn424£2 1 1H
BUE]  143% 3 0 & MR 14 95 6 &M AEFn424£2 H 1 H
AT (4% 3 0% AT i4 95 6% fEfn42422 ] 1 H
EHET  i5F&K 2% BEHEET 1499 5% AEFn424£2 1 1H
BEHET  i5%F 2% BHET 14 99 5% AEfn42422 ) 1 H
AT 5% 4 5 BHEIT 499 5% MEFn424-2 41 H
BT i5%5 %5 BEHET 1499 2%H AEfn424£2 7 1H
AT i5%5 5 BMHEAT 499 2% fEFn424-2 4 1 H
EHET  I5%5 % BHEAT 1499 2% fEFn424-2 41 H
EHAT  i5&K7 R BEHET 1499 4%H HEFn424£2 7 1H
EHET 5% 75 BHEAT 499 4% fEFn424-2 41 H
AT 5% 75 BHEAT 1499 4% fEFn424-2 41 H
EHAT  i5%8 & BEHET 1499 3% HEFn424£2 7 1H
AT I5%8 % BHEAT 1499 3% fEFn424-2 51 H
EHET (5% 9% BHEAT 1499 3% fEFn424-2 4 1 H
AT 5K 1 0% BEHAET 1499 3% AEfn424£2 1 1H
AT (5K 1 0% AT 14 99 3% AEfn42422 ] 1 H
AT 5K 1 3% AT 14 99 3% AEfn42422 ) 1 H
AT (5K 1 4% BEHET 1499 3% AEFn424£2 7 1H
AT (5K 1 5 BHET  i500 1%&H HEFn424£2 7 1H
AT 5K 1 5% BMHET 1500 1% AEfn42422 ) 1 H
AT (5K 1 6% BEHET  i500 1%H AEFn424£2 7 1H
AT 5K 1 7 BHET 1500 1%H HEFn424£2 7 1H
AT (5K 2 65 AT 1496 6% AEfn42422 ) 1 H
AT (5K 2 65 BEHAET 1496 6% HEFn424£2 7 1H
AT 5K 2 65 BEHAET 1496 6% AEfn424£2 1 1H
AT (5K 2 65 AT 14 99 6 %Ki AEfn42422 ) 1 H
AT 5K 2 6 BHET 1500 0% HEFn424£2 7 1H
AT 6K 1 0% AT 14 99 6% AEfn42422 ] 1 H
AT (6K 1 2 AT (4 99 6 &K AEfn42422 ) 1 H
AT 6K 1 3% BEHAET 1499 6% AEFn424£2 7 1H
AT 6K 1 4% BEHAET 1499 6 & HEFn424£2 7 1H
AT 6K 15 =Rl 500 0&FH HEFn424-2 H 1 H
AT 6K 1 6% BEHET 1500 0% AEFn424£2 7 1H
AT 6K 1 6% BEHET  i5000%&H1 AEFn424£2 7 1H
AT 6K 1 6% BMHET 1500 1% AEfn42422 ] 1 H
AT 6K 1 6% BEHET  i500 8&H AEFn424£2 1 1H
AT 6K 1 7 BEHAET {495 0% HEFn424£2 7 1H
AT 6K 1 7 BMHET (500 1% AEfn42422 1 1 H
AT 6K 1 7 BHET  i500 1%H AEFn424£2 7 1H
AT 16K 1 8% BHET 1500 2% AEfn424£2 1 1H
AT 6K 2 3 BMHET  i50 0 3% AEfn42422 ] 1 H
AT 6K 2 65 BHET 1500 2% HEfn424£2 7 1H
AT 6K 2 7 BEHET 500 1%&H AEFn424£2 7 1H
AT 6K 2 7 AT i500 2% AEfn42422 ] 1 H
AT 6K 2 7 BHET 1500 2% AEfn424£2 1 1H
AT 6K 2 8 BEHET 1494 4%H AEFn424£2 7 1H
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AT 6K 2 8 EHAT 494 4%H HEFn424£2 7 1H
B (6K 2 8 & BHET  i50 0 6% iEFn424-2 H 1A
EHET 163/ 2 8% AT 494 4FKH AEfn42422 1 1 H
AT 6K 2 9 BHET 1500 6% AEFn424£2 1 1H
B 6K 2 9 & BHET 1500 7% iEFn424-2 H 10
AT 6K 3 0% BMHET 1500 5% fEfn42422 ] 1 H
AT 6K 3 1 BEHET 1500 2% AEFn424£2 1 1H
BHE]  i6% 3 1 & BHET 1500 5% iEFn424-2 H 10
AT 16K 3 2 BMHET 1500 1% AEfn42422 ] 1 H
AT (6K 3 3% EHAET 1663 3%FH1 AEFn424£2 7 1H
AT (7 1S BHAT 148 3 4% fEFn424-2 A 1 H
BT 7&K 1R BEHET 1500 0% AEFn424£2 1 1H
BT i7&1E BHEET 1501 0% HEFn424£2 7 1H
EHET i7& 1R BMHET  i50 2 0% AEfn42422 ] 1 H
BT 7&K 1E BEHEET i502 0% AEFn424£2 7 1H
BEHAT 7 &K4 R BEHET 1499 4%H HEFn424£2 7 1H
EHET (7R TE BMHET  i50 2 0% AEfn42422 ] 1 H
BT i7RTR BEHEET 1502 0% HEFn424£2 7 1H
AT (7&K 1 1 BHET  i501 9%&H1 AEfn424£2 1 1H
AT (7&K 1 2 BEHET  i502 0% AEfn424£2 7 1H
B AT 7HK]1 3= =Rl 50 2 0%&FH HEFn424-2 H 1 H
AT (7&K 1 45 BEHET 1502 1% AEfn424£2 1 1H
AT (7&K 1 65 BEHET  i502 1% AEFn424£2 7 1H
¥ AT TR T =Rl 50 2 0%&FH WEFn424-2 H 1 H
AT (7&K 1 7 BEHET  i502 1% AEFn424£2 7 1H
AT (7&K 1 8 BEHET 1499 4% H HEFn424£2 7 1H
AT (7K 1 8 AT 14 99 9% AEfn42422 1 1 H
AT (7&K 1 8 BEHET  i5000%&H1 AEFn424£2 7 1H
AT (7&K 1 8 BHET 1500 7 & AEfn424£2 1 1H
AT (7&K 1 8 BMHET  i50 2 1% AEfn42422 ] 1 H
AT (7 &2 2 BEHET 1502 4% HEfn424£2 7 1H
EHET  i8%F 1% BEHET (4 99 4% AEfn42422 1 1 H
AT 8% 2% BHEAT 1449 4% fEFn424-2 4 1 H
BT i8%K3 & BHEET  i50 2 0% AEfn424£2 1 1H
AT (8K 2 45 BHET  i50 3 0% AEFn424£2 7 1H
B AT 8% 2 4 - =Rl 50 3 0&FH HEFn424-2 H 1 H
AT (8K 2 6 BEHET 1502 9% AEFn424£2 1 1H
AT 8K 2 6 BEHET  i5029%&H1 AEFn424£2 7 1H
AT 18K 2 8 BMHET  i50 2 5% AEfn42422 ] 1 H
AT (8K 2 8 BEHET  i50 2 5% AEFn424£2 1 1H
AT 8K 2 8 BEHET 1502 5% HEFn424£2 7 1H
BEHAT 8K 2 9 BMHET  i50 2 5% AEfn42422 1 1 H
AT 8K 3 0 BEHET  i50 2 5% AEFn424£2 7 1H
BEHAT 18K 3 0% BHET 1502 5% AEfn424£2 1 1H
AT (8K 3 0 AT i50 2 5% AEfn42422 ] 1 H
AT 8K 3 0 BHET 1502 5% HEfn424£2 7 1H
AT 8K 3 0% BEHET 1502 5% AEFn424£2 7 1H
AT 8K 3 0% MRS  i50 2 5% AEfn42422 ] 1 H
AT 18K 3 0% BEHET 1502 5% AEfn424£2 1 1H
AT 8K 3 0% BEHET  i50 2 5% AEFn424£2 7 1H
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AT 8K 3 3% BMHET 1502 5% HEFn424£2 7 1H
BOH]  i83K 3 4 & BHET  i50 2 1% iEFn424-2 H 1A
AT 8K 3 4% MRS i50 2 4 %M AEfn42422 1 1 H
AT 18K 3 8 EHAET 1499 4% H AEFn424£2 1 1H
AT 8K 3 8 MR (502 1 &M2 fAFn424-2 7 1 H
BEHAT 8K 3 9 AT 14 99 4% BEfn42422 ] 1 H
EHET 9K 2% BEHET 1499 4%H AEFn424£2 1 1H
AT (9% 25 BHEAT 1499 4% fEFn424-2 5 1 H
EHET (9% 5 5 BHAT 498 7 %K fEFn424-2 4 1 H
AT (91 6% BEHET  i500 0% AEFn424£2 7 1H
BET (9% 1 7 & BHET 1500 0% igFn424-2 H 10
AT (9E 2 2 AT 14 98 7&K AEfn42422 ] 1 H
AT 9E 2 2 BEHAET 1498 7 &H HEFn424£2 7 1H
B (92 2 & MHET 1498 7 %M iEFn424-2 H 1A
AT (9K 2 2 AT 14 98 7&K AEfn42422 ) 1 H
AT (9K 2 2 BEHAET 498 8 & AEFn424£2 7 1H
BE] 192 2B AT 14 98 9%M igFn424-2 H 1A
AT 9K 2 2 AT (4 98 9% AEfn42422 ) 1 H
AT 19K 2 5 EHAET 1498 7 & H AEfn424£2 1 1H
AT (9K 2 5 BEHAET 1498 7 & HEFn424£2 7 1H
AT (9K 2 6 AT i4 98 7 & AEfn42422 ) 1 H
AT (9E 2 7 EHET 1498 7 &M AEFn424£2 7 1H
AT 1 0K 4 AT (4 94 9% AEfn42422 ] 1 H
B AT 10%K9% =Rl 50 3 0&FH iEFn424-2 H 1 H
B AT 11%1% BHET  i50 3 0% HEFn424£2 7 1H
B AT 11%9% BEHET 1503 5% AEFn424£2 1 H
BEOET i1 1K1 1% AT 150 3 3%&M fEFn424£2 H 1 H
B AT 11%1 1% BEHET  i50 3 3% HEFn424£2 7 1H
B AT 11%11% BHET  i50 3 3% AEfn424£2 7 1H
AT (1 1K1 1 BERT (50 3 33K fFn4242 4 1 H
B AT 1 1K1 7% EHAET 496 4%KHnD AEFn424£2 7 1H
B AT 11%1 7% BEHET 1502 0% AEFn424£2 1 1H
B AT 11%1 7% =Rl 50 2 0%&FH WEFn424-2 H 1 H
B AT 11%1 7% BHET 1503 3% AEFn424£2 7 1H
B AT 11%1 7% BHET  i50 3 3% AEfn424£2 7 1H
AT i1 1K1 7 BEET (50 3 53K fFn4242 41 H
AT (] 2K 2 BMHET (502 3%FH2 AEfn42422 ] 1 H
AT 1] 2K 2 AT i5023%FH3 AEfn4242 ) 1 H
AT (1 2K 3 AT 150 2 3% AEfn42422 ] 1 H
B AT 1 2%9% BEHET  i50 2 2% AEfn424£2 1 1H
B AT 12%1 2% BEHET 1502 4% HEFn424£2 7 1H
BEHAT (1 2K 1 25 BEET 50 2 43K fFn4242 411
B AT 12%1 2% BEHET  i50 2 5% AEFn424£2 7 1H
B AT 12%1 2% BHET 1502 5% AEfn424£2 1 1H
BOHT i1 23/ 1 35 R 150 2 5 %M fEFn424£2 H 1 H




